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Note: There are ’I'HREE Scctmm in this prper e A, B & C. Attempt ‘iccunn-—;\ and. rgtnrn it to the Supcnntcndcnt
’ within the glven time, No maiks will be awarded for cutting, erasmg amdl nverwrltmg Moblle Phanes: are.
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;llme- 20 minutes - - ' Secﬂon-A' o ‘ e Marks: !8 o
QNo 1 Select the correct npﬂon and shade (A,B, C D) in the given Bubbie Answer Sheet, |

i Equation | A.B | = |A x Bl is cotrect for 0=

A0 -4 - C-60° - Do
il.  Areaunder velqci{y-time graph is called ___ . : ] o .
A-Speed - B Accélemﬂon . C- Veloctty @ Distance tt*aa:ve;le;i
_ iid. '»Rauge of a pro_lecule will be maximum for’ 6 I - .
A0 B-90° . C-60° N XLy
v. The portion of a wave above the'mean fovel is calted . ‘
" A-Trough .  BeWave length =~ G-Amplitede . - Crest -
v. - Thei mcreaqe in the speed of sound for cach degree rise above 0°C is ' .
o Aeimst @-061ms" - C20.061 ms™ D-0.0061 ms™
vi. - Signal from a remote control to the device opemted by it ‘travel with the speéd of‘ .
" A-Supersonics _ B-Sound- » @ Light . D-Ulmsonic
vit, The tip of needle does not give a sharp ﬁmag'e- It is due to ) o
A Polarization - "B- Interference /@ Diffraction D- Refraction
viii. The 8.1 Unit of ‘molar specific heat capacity m Y ' _ ' )
 A-LmoleK’ B-fmolek! . ¢ C-JK' . @ 1molek!
ix. “The measute of disorder of a system is called _ _ *_ 4 : e . ,
- A~ Heat capacity ' - @ Entropy o C- Internal cnergy D- None of these™
X~ The estimated diélﬁelel' of the earth is .‘ . : £ '
L AI2Tum B 127G.m - - . C-12.7 p.m. ®127Mm .
xi. The number of significant hgureq in 10. 80J are _ . A '
A-Two B-Three, .»I‘our o D- Five )
Xl I R, and Ry both are negative lhcn; 0 lies in. - quadrmi-t. :
At B2 . @™ . D-4"
- xiit. + ‘The device used to measire the tate of flow of liquid in pipe is callcd . .
A Spe.,ctromet(':'r © 4 Venturimeter C- Interferotheter* - D-Barometer ~ ®
xiv. According to Stooke’s law drag force dependson __ velocity. )
o ‘ Instantencous B- Initial . . CFima . D 'I'eﬁninai :
xv. ‘ Tuning of a radio set is an example of . resonance. _ _‘ S
A-Mechanical B- Musical @ Elcctrical " D-None of these
Lxvi.  One Joule per second is equalto ] . ' ' - .
A- 1 Pascal " B-1Newton @1 Wat D- 1 Jaule
" xvii. The valne of escape velocity is LT '
& 11.2x10°m.s" B- 11.2x10°%kms™ - C-111.2km.s™ D- 21 1.2%kms"
xviil. Monent of inertia-for thin walled cylinderis o

@M BMMRE UM D- 1/12 MP
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SECTION-B = ‘ ' Marks: 40

Q2:  Answer any TEN parts. Each part caries equal marks. o
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“ il
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X1,
K1,

xiii. -

. Sh\tt' Toreelti s theoren. Hluow lhnl po- \/...,(.'h

Show that rate of change of angular mnm'cntum is equal to torque.
Write any four uses 0f ulirasonics,

A soap hubble looks hlack when it burits, why? |

What is the difference hetween isothermal and adiabatic expansion of Camot Cycle,

Deduce the dimensions of the Gravitational Constant.

Fxplain how cranes are able 1o 1ift very heavy load without toppling?

Dyetirie napber “n and she that 2 radins - 36, I
P ferentiale soksy ey amd i b ey . ‘ |

Thrfine opbnad welo ity snd prove it Ve J-- , wnere I ADE redias ol oting wid ' in speed uf satollite,
3 ‘ Lo : )

' ¥y
“L‘hu"|"()JU.!l|t: Pt il pave tht wuga of & projectile i8 given bv | (e
Is there any connection butween ™ 1 and “x™ ot d spring fAsE systent? bxplain
Iixplain briefly vectar productof two veciors.
SECTION-C - . Marks: 27

Note: Attempt any THRERE of ihe fnllnwin;~ Al questions carvy equal marks.

Qi a)
by
Q4: .n)
b)
- Q5 a)
b)
Qo6: V a)
'b)

‘Show that the speed of flnid through any pipe is inversely proportional to the cross :ccimnal atea of pipe
[ 1

te. Vo —,

A .

A mass at the end of a spring describes $.H.M with-a.period of 0.8sec. Find the aceeleration when the
displacement is 6erm. : : :

i

Definc molar heat capacities Cp and Cv for a pas. q}horw that fora mole of an ideal gas Cp Cv= R

A man weighing 800N runs up n flight of stairs in Ssec. The vcrtwal height of stairs 18 6.510,
Calculate the power of the man. .

Explain Newton's formula for the speed of sound. Show that how it was corrected by French scientist
Laplac>? , ’ -

" An object of 24008 falls from a height of 1 800cm on the sand below. If it penctraleq Zcm mto thc sand
what opposing {orce is cxcrtcd on it by the sand?

Define elastic and inelastic collisions. Derive mathematical equation for calculatmg the final ViﬂOCltte% of
the elastically colliding bodies in one d]mensmn :

A string 2000m long is nsed to whirl a 300gm stone in a horizontal circle at a speed of 3 ms™. FFind tension
in the string, C



